
1. A farmer plans to fence a rectangular pasture adjacent to a river.  The pasture must 

contain 180,000 square meters in order to provide enough grass for the herd.  What 

dimensions would require the least amount of fencing if no fencing is needed along 

the river? 
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2. A rancher has 200 feet of fencing with which to enclose two adjacent rectangular 

corrals.  What dimensions should be used so that the enclosed area will be a 

maximum?   
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3. An open box of maximum volume is to be made from a square piece of material, 24 

inches on a side, by cutting equal squares from the corners and turning up the sides.  

Find the dimensions of the box. 
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      4.   If 1200 cm
2
 of material is available to make a box with a square base and an open top, 

 find the largest possible volume of the box.  
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